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Занятие №16 

Тема: «Обобщение и систематизация знаний за 3 семестр»

I. Переведите предложения на английский язык.

1. Я учусь на факультете экономики, менеджмента и информационных технологий.

2. Наш факультет обучает студентов по таким специальностям, как: бухгалтерское дело, аудиторское дело, менеджмент, маркетинг, информационные технологии.

3. После окончания института студенты будут знать все типы организации бизнеса, их преимущества и недостатки.

4. Эксперты по продажам должны знать, что успешный процесс продажи – это наличие нужного продукта в нужном месте в нужное время.

5. Только такой процесс приносит взаимо выгоду покупателю и продавцу.

6. Специальность экономиста очень важна для развития и процветания страны.

II. Подберите из правой колонки русские эквиваленты английским словам в левой колонке.

1 natural science a ресурсы
2 commodities b включать в себя
3 wealth c социальная наука

4 resources d власть

5 complicated e трудный
6 social science f заработная плата
7 difficult g естественная наука

8 comprise h богатство

9 authority i сложный
10 price j потребление
11 wage k влиять на

III. Заполните пропуски глаголом tobe в соответствующей форме и переведите предложения на русский язык

There …… three faculties at our University: the automobile faculty, the faculty of economics, and the faculty of jurisprudence(is, was, are, will be).

There …… a good library at our University (are, were, is, will be).

There …… a lot of books as well as technical literature in the library (is, was, are, were).

There …… many students in the laboratory last week because a new equipment was demonstrated (are, were, is, was).

There …… a distance education department at our University(are, were, is, will be).

There …… three forms of organization of your business (is, was, will be, are).

There …… one owner of the business in the sole proprietorship(are, were, is, was).
IV. Закончите предложения, выбрав соответствующий вариант окончания.

1. A sole proprietorship is an organizational form of …. .

a) more than one owner.

b) only one owner.

c) an institution operated by managers.

2. A partnership is a business form of …. .

a) more than one owner.

b) only one owner.

c) an institution operated by managers.

3. A corporation is a business form of …. .

a) more than one owner.

b) only one owner.

c) an institution operated by managers.

4. The advantage of a corporation is … .

a) that the owner makes decisions without consulting any one.

b) the ability to attract financial resources and talented managers.

c) that the partners may disagree with each other.

5. The disadvantage of a partnership is … .

a) that the owner makes decisions without consulting any one.

b) the ability to attract financial resources and talented managers.

V. c) that the partners may disagree with each other.

VI. Заполните пропуски соответствующей формой глагола в страдательном залоге. Переведите предложения на русский язык
1. All service activities …… by means of computers (is done, was done, are done).

2. We can’t understand the documents because they …… in German (is written, are written, will be written, were written).

3. These commodities …… at our plant and they are of good quality (are produced, will be produced, were produced).

4. The science of economics …… by economists into macroeconomicsand microeconomics (was classified, is classified, areclassified).

5. Computers …… to shorten the time between designing andmanufacturing (are used, is used, will be used).
VII. Закончите предложения, выбрав соответствующее по смыслу окончание.

1. A corporation is … .

a) a specific legal form of organization of persons and resources for the purpose of conducting business and

making profits.

b) a form of business organization of two co-owners.

c) a form of business organization of a single proprietor.

2. The competitiveness and productivity of large corporations are maintained due to … .

a) scientific «know-how», innovation and technical capability.

b) possibility of making profits.

c) possibility of performing certain services.

3. One of the advantages of the corporate form of business is that ... .

a) the corporations are needed to perform certain services in the state economy.

b) the corporation can hire talented managers.

c) managers can act in their own interests.

4. One of the disadvantages of the corporations is that … .

a) the corporations are needed to perform certain servicesin the state economy.

b) the corporation can hire talented managers.

c) managers can act in their own interests.
 Все ответы сдать в вк до 17.12
